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This
principal Richard Simpson. As you know, our
school drone club was awarded first prize at
the Drone Show Contest. Actually, I asked the
drone club to perform the show again for you.
And they said, “Yes’.
you watch the performance at the school field
tomorrow. Please come and see the club’s
drone performance,
Thank you.

M: Good morning, students. is your vice

So I would recommend

and show your support.

drone =2, F2l &37]
award o3}T}
recommend 3}c}
support A4, &<

2. [BAE] sty oA Fedn.

W: Ryan,
yesterday?

M: Yes, I loved it. I can’t believe we got tickets
for such a popular show.

W: Yes, we were lucky. By the way, it reminded

did you enjoy the musical “Tigers’

that we have to
prepare for the next month’s school festival.
M: You read my mind! I think we should look for

me of the class musical

a musical with a variety of music.
W: Well,
important than that.

there might be something even more

M: Should we give the audience a meaningful
lesson?

W: Not necessarily. Do you remember what we
did last year?

M: Yes. We focused on preparing a musical that
was easy to perform.

W: Right. I think
everyone should have a role for the class

But not everyone participated.

musical.

M: That’s a good point.

musical FAZ4
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a variety of TFoF3h
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3. [BAGE] F3le] 8A & FEAH.

WeelA s

M: Welcome to the Healing Tip Podcast. I'm Dr.
Smith. In our busy lives, what do you think is
just as important as exercising or eating well
for your health? It's rest. Rest plays a crucial
role in maintaining your overall well-being. It
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allows your body to heal and recharge, while
also helping your mind relax and improving
focus. That’s why I want to emphasize how
important rest is for your health. Taking time
to rest can prevent stress and boost your

overall wellness. So, don't skip those breaks!

podcast FA2E, gl W
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W: Hi, [ visited the
Dream Gallery with my mom yesterday.

Jayden, you know what?

M: Oh, I've always wanted to visit there. Did you
take any pictures?

: Sure. Look at this.

Is the person wearing a striped-dress your

mom?

= =

W: Yes, it is. She really loved the painting on the
left side of the wall.

M: Oh, the painting of flowers? That’s nice. I also
like the other painting.

W: You mean the painting of umbrellas in the
round frame?

M: Yes, it caught my eye. I can see a person
sitting on the right side of the picture. Who's
the person?

W: The man wearing glasses, right? He's the
manager of the gallery.

M: I see. What's the arrow sign on the right
wall?

W: It shows the direction to the next area.

M

: Oh, the gallery must be huge!

gallery 3}
striped-dress &%4 Z#x
frame A}
arrow 3}

direction *sF

5. [EAGE] izt & 48 sepdin.

W: Honey, the flowers are really beautiful these
days. Why don't we walk  this
weekend?

M: Wow,
particular place in mind?

W: Yes, I'd like to visit the Grand Forest. I've
already downloaded the map of the forest.

M: That’s nice.
tickets?

W: Yes. We can buy tickets online. I'll buy two

take a

that sounds great. Do you have any

Do we have to buy entrance

tickets in the afternoon.

Great. lunch there, too.
There’s a restaurant called Treehouse Pasta in
the Grand Forest.

> Nice. Do we have to make a reservation?

=

Let’s have a nice

Yes. T'll make the reservation right away.
. Then, I'll look up the menu of the restaurant.

=52 =

Thanks.

particular E4 3t
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